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MACRO ECONOMICS
Paper—BC-202

Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Question No. 1 is compulsory.

Attempt four more questions from the remaining eight questions

carrying 15 marks each.
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1. Answer each of the following short answer type questions.
Each question should not exceedone page :
(i) Differentiate between Intermediate and Final good. (4)

(i) Causes of the fall in MPC with the increase income. (4)

(ii)) Short note on government tax function. “4)
(iv) Give four measures to control inflation. @)
(v) Write four limitations of fiscal policy. @)
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2. Distinguish between Micro economics and Macro economics.
What is the relationship between the two. (5+10)
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3. What are the difficulties faced in the measurement of national
income. Also discuss the precaution while estimating national

income by income method. (10+5)
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4. Critically examine Keynes Psychological Law of Consumption.
(15)
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5. Discuss the concept of Multiplier. Explain its working. (5+10)
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6. Explain Keynesian theory of employment. What are its
implications? (10+5)
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7.  What is product market equilibrium? Derive IS curve from the

product market equilibrium. (6+9)
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8. What is Business Cycle? Explain various phases and features of
Business Cycle. (3+12)
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9.  What is Monetary Policy? Discuss the tools of Monetary Policy
used to control inflationary situation. (5+10)
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